random randint

hit rate = randint(

prtctv_fld usd =

hero attack():
hit rate <
robot damage = hero] ] - robot]
robot[ ] = robot] ] - robot damage

robot damage

robot attack 1():
prc = robot]

hit rate <

hero damage = robot] ] + prc - hero]

hero|[ ] = herof

hero damage




robot attack 2():
hit rate >
df hero damage = robot| ] - herof
hero| ] = hero] ] - df hero damage

df hero damage

equip shield():

display robot info():

robot|

remove shiled():




modify health(personage, change):

personage| ] = personage]| ] + change
change <

personage

personage




prtctv_fld usd >

remove shiled()

hit rate = randint(

hit rate <

hit rat




hit rate = randint(

robot _attack 2()




